Installetdon manvel

Ord. code: FMS5723

INSTALLATION MANUAL FOR 7"DIGITAL
MONITOR WITH 60° TIPPING HOLDER

1. Material needed for installation

FUNTOFO

Plastic frame of the monitor

Monitor — pos.no.1 pos.no.2

TIreY
m¥EY

Screws: .
8 pcs M5 x 10mm - pos.no.3 MO”'gzrnC:bs"”g Monitor holder with 60° tipping
2 pcs M2 x 6mm - pos.no.4 pos.no. pos.no.6
FMS5723 FMS5723-HH-60
068988-M

Secondary arrestment - pos.no.7
2. Tools needed for installation:

-

Screwdriver PH2

-

Screwdriver PHO

Date 27/07/2011 Page1/5

MOLPIR s.r.0., sidlo: SNP 129, 919 04 Smolenice; prevddzka: Hrachova 30, 821 05 Brafislava, Slovenska republika, Tel.: 00421 2 4319 1218, 4319 1219, Fax: 00421 2 4319 1220,
e-mail: obchod@molpir.sk, wvw.molpir.sk
IC0: 31431372, 1pD: SK 2020391560, Tatra hanka Brafislava, . 6.: 2628020575/11 00, register: 0S Trnava, odd: Sro, vioi.: 1045/T
MOLPIR GROUP (Z a.s., Zeleznicni 469/4, 772 00 Olomout, Ceska republiko, Tel.: 00420 585 315 017, 585 315 018, Fax; 00420 585 315 021, e-mail: molpir_o@molpir.cz, www.molpir.cz
MOLPIR GROUP (Z a.s., Na Dédindch 8, 141 00 Praha 41, Ceskd republika, Tel.: 00420 241 482 233, 241 482 244, Fax: 00420 241 482 255, e-mail: molpir@molpir.cz, www.molpir.cz
1€0: 25828843, DIC: 379-25828843, (S0B Olomou, ¢. 0. 377913723/0300, Regisirace: KOS, OR Ostrava, oddil B, viozka ¢, 2094

NM_FMS5723_002_27072011_EN



VA OL P\R\

‘ma
3. Installation procedure

Step 1: Insert metal holder of the monitor into the seat (pos.no.6) and fix it
with 3 screws M5 x 10mm (pos.no.3) trough holes marked with
rings.

Figure 1 - Fixation of the hinge on the seat with screws

Step 2: Installation of the monitor cabling:
1) Connect the cabling (pos.no.5) (FMS-CAQ04-........ ) into the
monitor connector
2) Insert the cabling (pos.no.5) into the groove on the rear side of
the monitor
3) Apply the adhesive tape to avoid that the cabling fall out from
the groove

Date 27/07/2011 Page2/5

MOLPIR s.r.o., sidlo: SNP 129, 919 04 Smolenice; prevadzka: Hrachova 30, 821 05 Bratislava, Slovenska republika, Tel.: 00421 2 4319 1218, 4319 1219, Fax: 00421 2 4319 1220,
e-mail: ohchod@molpir.sk, www.molpir.sk
IC0: 31431372, 1CpD: SK 2020391560, Tatra hanka Bratislava, ¢. 0.: 2628020575/11 00, register: 0S Trnava, odd: Sro, vio.: 1045/T
MOLPIR GROUP (Z u.s., Zeleznicni 469/4, 772 00 Olomouc, Ceska republiko, Tel.: 00420 585 315 017, 585 315 018, Fax; 00420 585 315 021, e-mail: molpir_o@molpir.cz, www.molpir.cz
MOLPIR GROUP (Z 0.5, No Dédinach 8, 141 00 Praha 41, Ceska republika, Tel.: 00420 241 482 233, 241 482 244, Fox: 00420 241 482 255, e-mail: molpir@molpir.cz, www.molpir.cz
1C0: 25828843, DIC: 379-25828843, (S0B Olomouc, ¢. 6.: 377913723/0300, Registrace: KOS, OR Ostrova, oddil B, viozka ¢ 2094
07001 NM_FMS5723_002_27072011_EN



VA OL P\R\

ma
Step 3: Placing monitor on the holder
1) Direct hooks on the rear side of monitor to the T-holes in the

holder (pos.no.6) and the monitor (pos.no.1l) push down as
much as possible.

hooks

hooks

Figure 3 - Hanging of monitor on the hinge

2) Fix the monitor with two screws M2 x 6mm (pos.no.4) to the
monitor holder

Figure 4 - fixation of
monitor on the hinge

Date 27/07/2011 Page3/5
MOLPIR s.r.0., sidlo: SNP 129, 919 04 Smolenice; prevadzka: Hrachova 30, 821 05 Brafislava, Slovenska republika, Tel.: 00421 2 4319 1218, 4319 1219, Fax: 00421 2 4319 1220,
e-mail: ohchod@molpir.sk, www.molpir.sk
IC0: 31431372, 1CpD: SK 2020391560, Tatra hanka Bratislava, ¢. 0.: 2628020575/11 00, register: 0S Trnava, odd: Sro, vio.: 1045/T
MOLPIR GROUP (Z u.s., Zeleznicni 469/4, 772 00 Olomouc, Ceska republiko, Tel.: 00420 585 315 017, 585 315 018, Fax; 00420 585 315 021, e-mail: molpir_o@molpir.cz, www.molpir.cz
MOLPIR GROUP (Z a.s., No Dédinach 8, 141 00 Praha 41, Ceska republika, Tel.: 00420 241 482 233, 241 482 244, Fox: 00420 241 482 255, e-mail: molpir@molpir.cz, www.molpir.cz
1C0: 25828843, DIC: 379-25828843, (S0B Olomouc, ¢. 6.: 377913723/0300, Registrace: KOS, OR Ostrova, oddil B, viozka ¢ 2094

NM_FMS5723_002_27072011_EN



-

ma

Step 4: Insertion of AUX-IN and SPK-OUT cabling (only if necessary)
1) Connect connectors (male plug with female plug)
2) Insert connected connectors into the secondary arrestment
(pos.no.7)

3) By closing of secondary arrestment the connection is secured
against its unwanted disconnection

FUNTOFO

Figure 5 - AUX-IN and SPK-OUT cabling

Step 5: Installation of the plastic frame of the monitor
1) Tilt the monitor into 45° ~ 60° angle
2) Insert the plastic frame (pos.no.2) on the tipping monitor
(pos.no.1) with the holder (pos.no.6)

Figure 6 - Insert monitor with hinge into the frame

Date 27/07/2011 Page4 /5

MOLPIR s.r.0., sidlo: SNP 129, 919 04 Smolenice; prevadzka: Hrachova 30, 821 05 Brafislava, Slovenska republika, Tel.: 00421 2 4319 1218, 4319 1219, Fax: 00421 2 4319 1220,
e-mail: ohchod@molpir.sk, www.molpir.sk
IC0: 31431372, 1CpD: SK 2020391560, Tatra hanka Bratislava, ¢. 0.: 2628020575/11 00, register: 0S Trnava, odd: Sro, vio.: 1045/T
MOLPIR GROUP (Z u.s., Zeleznicni 469/4, 772 00 Olomouc, Ceska republiko, Tel.: 00420 585 315 017, 585 315 018, Fax; 00420 585 315 021, e-mail: molpir_o@molpir.cz, www.molpir.cz
MOLPIR GROUP (Z a.s., No Dédinach 8, 141 00 Praha 41, Ceska republika, Tel.: 00420 241 482 233, 241 482 244, Fox: 00420 241 482 255, e-mail: molpir@molpir.cz, www.molpir.cz
1C0: 25828843, DIC: 379-25828843, (S0B Olomouc, ¢. 6.: 377913723/0300, Registrace: KOS, OR Ostrova, oddil B, viozka ¢ 2094

NM_FMS5723_002_27072011_EN



Step 6: Fixation of the plastic frame
1) Tilt the monitor and tighten 3 screws M5 x 10mm (pos.no.3)
into the holes (marked with rings)

2) Give the monitor to the basic position, in the one line with the
frame (pos.no.2) and tighten remaining 2 screws M5 x 10mm
(pos.no.3) into the holes on the top of the frame, marked with
rings.

Date 27/07/2011 Page5/5

MOLPIR s.r.o., sidlo: SNP 129, 919 04 Smolenice; prevadzka: Hrachova 30, 821 05 Bratislava, Slovenska republika, Tel.: 00421 2 4319 1218, 4319 1219, Fax: 00421 2 4319 1220,
e-mail: ohchod@molpir.sk, www.molpir.sk
IC0: 31431372, 1CpD: SK 2020391560, Tatra hanka Bratislava, ¢. 0.: 2628020575/11 00, register: 0S Trnava, odd: Sro, vio.: 1045/T
MOLPIR GROUP (Z u.s., Zeleznicni 469/4, 772 00 Olomouc, Ceska republiko, Tel.: 00420 585 315 017, 585 315 018, Fax; 00420 585 315 021, e-mail: molpir_o@molpir.cz, www.molpir.cz
MOLPIR GROUP (Z 0.5, No Dédinach 8, 141 00 Praha 41, Ceska republika, Tel.: 00420 241 482 233, 241 482 244, Fox: 00420 241 482 255, e-mail: molpir@molpir.cz, www.molpir.cz
1C0: 25828843, DIC: 379-25828843, (S0B Olomouc, ¢. 6.: 377913723/0300, Registrace: KOS, OR Ostrova, oddil B, viozka ¢ 2094

0 9001 NM_FMS5723_002_27072011_EN



